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7 100kN/m#%#BZ2%5| 100|000 ~ 112| 11684 |3mZEBZE| — ~ — — — | 100kN/mZ#B25 | 1.00 | 1063 ~ 1402| 116.84 |3mEiBZ% -~ — — —
zh st 100|112 ~ 890 100.00 | #nds | 000 ~ 890|226 12.09 zh st 1.00 | 5.00 ~ 1063 100.00 | =ndS | 6.00 ~ 1402| 2.26 12.09
2 100kN/m#%#BZ5| 100|000 ~ 172 12643 |3mZEBZE| — ~ — — — | 100kN/m%EHBZB| 1.00 | 11.39 ~ 1762 126.43 |3mZEHBZ3 -~ — — —
ThLlst 100|172 ~ 951 100.00 | 0S| 0.00 ~ 951|261 13.99 ThLlst 100|500 ~ 11.39| 100.00 | Ths5 | 500 ~ 1762| 2.61 13.99
3 100kN/m##Z25| 1.00)| 000 ~ 040 1056.88 |3m&xEZD| — ~ — — — | 100kN/m%E# 25| 1.00 | 1578 ~ 1758 105.88 |3mZEHZ23% -~ — — —
ThLlst 100)| 040 ~ 818 100.00| FThis | 000 ~ 818|296 15.83 ThLlst 100|500 ~ 1578 100.00 | =hst | 500 ~ 1758 | 2.96 15.83
4 100kN/m##z25| 1.00)| 000 ~ 0.60 108.90 |3m%&xEZB| — ~ — — — | 100kN/mZ#B25 | 1.00 | 1417 ~ 1656 | 10890 |3mE#BZ% -~ — — —
zh sk 1.00) 060 ~ 838 100.00 | ThUs 000 ~ 838|287 15.34 zh st 100|500 ~ 1417 100.00 | ThS | 500 ~ 1656 | 2.87 15.34
5 100kN/m#%#8% % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 6.71 84.73 | #hs | 0o0 ~ 671|179 9.58 zh sk 1.00 | 5.00 ~ 814 84.73 | =S | 500 ~ 814 1.79 9.58
6 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 536 66.89 | ThLS | 000 ~ 000|163 8.75 zh s 1.00 | 5.00 ~ 5.98 66.89 | ThLS | 500 ~ 598 1.63 8.76
7 100kN/m#%#BZ2%| 100|000 ~ 065| 10961 |3ImEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 11.04 ~ 1290 109.61 |3mZEHZ3 -~ — — —
ThLlst 100065 ~ 843 100.00 | This | 000 ~ 843|235 12.60 ThLlst 100|500 ~ 1104 100.00 | Zhs | 500 ~ 1290| 2.35 12.60
g 100kN/m#%#BZ2%| 100|000 ~ 065| 10961 |3ImEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 11.04 ~ 1290 109.61 |3mZEHBZ3% -~ — — —
ThLlst 100065 ~ 843 100.00 | ThUs | 000 ~ 843|191 10.21 zh st 100|500 ~ 1104 100.00 | Ths | 500 ~ 1290 1.91 10.21
9 100kN/m#%#BZ2%| 100|000 ~ 065| 10961 |3ImEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 11.04 ~ 1290 109.61 |3mZEHZ3% -~ — — —
ThLlst 100065 ~ 843 100.00 | ThUs | 000 ~ 843|191 10.21 zh st 100|500 ~ 1104 100.00 | Ths | 500 ~ 1290 1.91 10.21
70 100kN/m##Z25| 1.00| 000 ~ 031 104.57 |3m&xBZB| — ~ — — — | 100kN/m%E#BZB| 1.00 | 1057 ~ 1140 104.57 |3mZEHBZ3 -~ — — —
ThLlst 100031 ~ 810 100.00 | ZhUs | 000 ~ 810|181 9.69 ThLlst 100|500 ~ 1057 100.00 | Ths | 500 ~ 1140| 1.81 9.69
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